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12 - | AR | AchRE - | AERE| AChE |
RIE ST i K= | “50cm | (1000m) | FH AR | (50em) | (100cm)
TR BE m 9:00 B 0.106 0.092 9:00 B 0.110 0.098
THNER | KEEE AR 9:00 & 0.054 0.052 9:00 & 0.054 0.074
BEEEEELES 9:00 [E 0.068 0.080 9:00 [E3 0.079 0.072
BREF R 13:45 B 0.081 0.098 9:10 B 0.115 0.105
[FEi/hER  |ERE JLEaE 14:05 B 0.096 0.088 9:30 B 0.083 0.081
EEERAR 13:55 [ 0.047 0.054 9:20 iE 0.059 0.048
BEE BFHE 8:45 & 0.075 0.072 8:00 B 0.071 0.058
BRER/NERR | BERAR Y v VY LB 8:50 & 0.101 0.113 8:05 & 0.093 0.091
BEmE LEasoie 8:55 3 0.086 0.072 8:10 53 0.075 0.066
BREER 9:05 B 0.110 0.123 11:50 B 0.118 0.125
BT /INER R el AE 9:00 & 0.116 0.101 11:45 B 0.119 0.100
EEEI RO 9:10 [E3 0.107 0.052 11:55 i 0.109 0.091
BREER 9:30 5 0.068 0.071 14:40 = 0.075 0.058
fER/NER | EXER 9:35 & 0.061 0.059 14:50 ) 0.046 0.060
EEEEE 9:25 [E3 0.074 0.063 14:45 = 0.067 0.072
BREE 10:00 B 0.109 0.105 12:55 i 0.139 0.105
ME/NER REXBEAE AE 10:10 & 0.078 0.075 13:05 i 0.069 0.067
EEES RO 10:05 [F3 0.098 0.085 13:00 5 0.088 0.100
BEE 8:00 5 0.161 0.120 7:20 [ 0.159 0.119
#E/DMER |REXRfTE AE 8:00 & 0.068 0.059 7:20 i 0.061 0.054
EEERFR 8:00 iE 0.147 0.133 7:20 i& 0.141 0.130
REBEOR] 9:00 & 0.064 0.057 10:10 & 0.064 0.061
F—hER |RESFR 8:55 i 0.093 0.087 10:25 [ 0.085 0.078
EREEOR 9:05 i& 0.054 0.048 10:15 [ 0.049 0.052
F=—ZXa—+ Rl 15:00 2 0.078 0.069 16:30 ) 0.081 0.086
godhek [EETEXRERE AE 15:10 = 0.055 0.048 16:35 = 0.062 0.051
EEEINT 1515 = 0.069 0.066 16:40 = 0.051 0.060
MEAFETIA/7a —R)L BB (1 Sv.”h) TY,
HII ==
s A H 28 3H(H). 48 (J) 38 3H(A). 48 ()
12 - | AR | AR - | AERE | AchE |
RIESB AR i K2 | "soem) | (100om) | FH A= | (500m) | (100cm)
BRER 9:00 = 0.109 0.102 9:00 s 0.120 0.086
Zh/NER | KBS AR 9:00 £ 0.047 0.059 9:00 i 0.063 0.052
BEEEELIES 9:00 = 0078 0073 9:00 [E3 0.082 0073
BRES R 9:50 & 0.100 0.106 9:00 5 0.106 0.105
[RibhER |ERE JLAEE 10:10 & 0.084 0.111 9:20 i 0.069 0.063
EEERALL 10:00 & 0.050 0.063 9:10 & 0.042 0.053
BRE FFAHE 9:05 i 0.074 0.076 8:45 g 0.056 0.054
BEER/NER [ BREEREL U vy VY LR 9:10 e 0.103 0.102 8:50 i 0.094 0.083
B R EEES T 9:15 5 0.090 0.076 8:55 3 0.069 0.071
BER 11:50 & 0.118 0.112 9:05 5 0.135 0.102
RIBT/INER R Eael AIE 11:45 e 0.114 0.104 9:00 i 0.125 0.086
EEEI RN 11:55 5 0110 0.102 9:10 [E3 0.094 0.094
BER 15:30 £ 0.072 0.061 14:10 iE 0.066 0.056
RN ER |EXEm 15:40 ] 0.063 0.052 14:20 5 0.061 0.058
REfEm 15:35 = 0.074 0.069 14:15 E_% 0.079 0.072
BE 8:30 BE 0.134 0.120 12:35 £ 0.105 0.096
ME/NER | REXBEMR AE 8:40 & 0.083 0.079 12:45 = 0.064 0.067
EEEI RN 8:35 3 0.107 0.085 12:40 = 0.086 0.096
BE 7:20 3 0.154 0.116 9:00 5 0.115 0.096
#E/IMFER |REXRATE AE 7:20 [ 0.067 0.052 9:00 5 0.065 0.075
EEE I 7:20 3 0.140 0.131 9:00 == 0138 0.101
REEOR 9:00 5 0.052 0.063 17:10 5 0.059 0.057
F—hER |RESFR 8:50 & 0.101 0.093 17:25 5 0.083 0.078
Ta A% 5] _ 9:20 [ 0.061 0.059 17:15 E_% 0.064 0.058
F=—ZXa—+ Hf{l 13:50 3 0.080 0.063 16:30 £ 0.066 0.063
gohek [ERTEXEE A3 14:00 = 0.054 0.051 16:40 = 0.057 0.062
EEEI RN 1410 3 0122 0.054 16:50 = 0.053 0.063
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_ A A
_ 3A178(A). 188 (%)
S W | xm |G| MR
— — = (50cm) | (100cm)
R : 0.103 K
THNER | KEEE AR 9:00 Eg 0.061 gog;
BE= mallE 9:00 53 0.080 0072
s BREF R 17:40 & 0.114 0.112
Bt [mRs LEEE 18:00 5 0090 | 0085
EEERFT 77:50 B 0051 | 0059
o ’s:tB_'i H91E 11:50 & 0.061 0.065
BRER/NERR | BERAR Y v VY LB 11:55 & 0.109 0.106
BERl TESRTE 12:00 B 0.076 0.065
I 8:36 = 0.101 5107
RAEE /AR \EXREET A1E 8:30 Z 0.079 0081
i‘ﬁ%ﬁ%ﬂ?ﬁi& 8:40 = 0.101 0.090
XBEE 15:30 5 0.0
mENER |mneE 15:35 B oﬁoél gggg
Eﬁﬁﬁﬁ 15:40 [ 0.078 0.065
O |EE 13:50 B 0.114 0
MR [REZE AL BB 14:00 i oor T o6
i’ﬁﬁ%iﬁﬁ?ﬁi& 13:55 3 0.075 0.065
j BE 720 & 0.110 0.083
#E/DMER |REXRfTE AE 7:20 & 0.061 0.067
;;é%ﬁi%ﬁﬁﬁi& 7:20 3 0.132 0111
S & DA 17:20 = 0 )
e L ey - = 0 -
F—hER IREFR 17:35 = 0027;2 gg;g
ERR = . .
@ﬁfu H;i =T 17:30 = 0.054 0.059
o ) == I 16:50 5 0.077 0.071
Fothty [EREmnEE B 17:00 S 0053 | 0055
BEERMIE 17-10 3 0.052 0.051
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